Case—01 | (339 T QI ATHOT T wit s Fri e =0 93z (o8q [0 = W + &<
CFETIR A = VYA T [S7F (TN TR 419 @ Felgd T SR (@TA- GG FG]

& T cs39 it

TER, &he, 9, *IfeF, Fet, By, woeE S5, 79y, | 59, @@, 99, 99, S99, 5F, @ife saean,
O, SIEl, Aew, BiY, @Y, [Rige aqr, &eg, | A9 (T© o 7ST), 96H, BIEs S, fHue
I, PR, Qe siet, S ol AT, BB |
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Case—02 C‘Fﬁﬁﬁf“mﬁ,ﬁ(ﬂﬂﬁﬂ]‘)=%i ﬂ—a.j.q_%]‘{; 4t ce3a A Wﬁ m; ﬁ;ﬂ?

(SACF (FEE I
(CIRSHce )

AfSTar®: Grad(A) =

*S: (i) A must be scalar

(i1) ST CFITAT dot Y=FI A1

(iii) V ST 971, A Sie)
Example: V = 3x + 2xy + 2z%; Grad (V) =?

Y VV = | 1— (3x + 2xy + 222)—1-];3-— (3x + 2xy + 2z2) +f( (3x+ 2xy + 2z2)
= (3 + 2y)i + 2x] + 4zk (Ans.)

ﬁiwm:ﬁ = Grad (w)
E = Grad(V) |Sign neglect Stq

\CIEAC] B A (Elivergence) divergenceof E= V.E=V
d for dot

ei5fere fFg divergence: V=div(E); W=div(F) | I== auifars 93 99 23
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01.

02.

03.

Example: E = 2xi + 3x2yj + 522k A div(E) = ?
. d = i ad ~ 2 a 0 T 2
HAAYE: div(E) = (El +E] +55k)' (2xi + 3x%yj + 5z2k) = (2 + 3x* + 10z) T CFIS 1

e ——

Points: (i) V.A = 0 T @RIT A = Solenoidal —_ ——=

(i1) V.A = +ve T @RI A = Source —
- - | -
(i) V.A = —ve TEN @R A = sink
P

Sink Solenoidal Source
I [I.‘url Curl of A = VxA
C for cross

Example: A = 3xyi + 2x2z) + 3z2k, Curl(A) @9 ¥ (1,1, 2) point Q@ $S7
i k
2 2 Z|=i0-2)-j0-0) +k4xz — 3x) = ~2i + 5k [at(1, 1, 2)]
3xy 2x%z 3z?
ICurl(A)| = V4 + 25 = V29 [at(1,1,2)] (Ans.)

Points: (i) @t 39 ¢(Fq (ii) Curl(A) =0 ¥ VxA=0 TFA = W‘Tﬂ%
(iii) Curl(A) # 0 =& A = gt |

— +ve T dfa eowd e [Clockwise]

— —ve T #f4 9iReEs e [anticlockwise ]

wﬁx$|=zmmmm = g oifS

* Curl ¥ divergence J<owg 0 (*7) 2T |
Case—03 | (539 @A — #ia 20571 (539 [[TEH — Al [KeifErs e

@

AYEH: Curl (A) =

Related Questions:
&N (337 T T (Curl) 477 2 (S0 /T 3? [Ans: ¢][RU’19-20]

(a) TN @ SETEmere (b) T @ FRAweHl () Sgfater @ Segmerter (d) SgSTateT @ SEyearwer
@t O AT (AT @F T T TEF ee 15 [l o= 1 17 <157 e 10 B0 i | @3te wiws facs o1

szt 5 & gratter | TR «F s 10 i wfeeT 90 | 99n fras i @R o vk witg?

(a) X (b) “F5r (c) e (d) Wit [Ans: c][KU’18-19)
SREH IR T = 3x1 — 2y + 4zk @ V.7 =2 [CU’18-19]
(a)9 (b) 5 (c) 10 (d) 12

d

mm(b);ﬁ.i’-:( i ;i+§—§)(3ﬁ—2ﬁ+4zﬁ)=3——2+4=5

Sx y




04.

05.

06.

07.

01

0l.

02.

5T BT ¢ V.V = 0 Fep? [Ans: ¢] [RU’17-18)

(a) ‘gif’ (b) —@- (c) ESE (d) FRGTENE, 7]
A @ B 6 (533 21 (vector quantity) LT NG ASH? [Ans: b][IJnU’15-16]
(@)AxB=BxA B)AxB=-BExA (c) FHBIT (d) a8 b THTZ
I 0 T I GO (ST O N T P} e I S T [Ans: ¢][CU15-16]
(2) I (S0 (b) SR (589 (©) 93 (87 (d) TTOAN (OB (e) AT (T3
(S37 RS e FMp? [Ans: c][RU’06-07,KU’13-14]
(a) 7€ HifErs 7ee g2 (b) i Tewas
(c) eelBET (it oIS (d) =tifew «ifs

Written

(1, —1,1) sEw A = 3xyz3i + 2xy?] — x3y?zk a7 wiRemwe (divergence) a1 [InU’18-19)
— — 5 = 8 2 8 o~ 0

FE: V.A = (E;I +5 EE) .(3xyz®1 + 2xy?j — x3y?zk) = 3yz® + 4xy — x3y>

(1,-1,1) Rees, V.A = 3(—1).13 + 4.1.(-1) - 13.(-1)2=-3—-4—1= —8 (Ans.)

Question Type-02: S/ A

A = ai+bj + ck, |A| = VaZ + b? +c?

ffax®,a+AB=b |[AB=b—-a
. AB = B @7 Sq8I¥ (539 — A T ST (SF] |

Example: A(2,3,0), B(6,0,5) =T AB =?, [AB| =7
ST: AB = (6 — 2)1+ (0 — 3)] + (5 — 0)k = 41 — 3] + 5k

|AB| = V4% + 32 + 52 = /50 (Ans.)

Related Questions:

10N T 920 T X OF AR (&0 905 Y % 9999 99 ol 33- [Ans: d][JU’19-20]
(a) 10N (b) 5N (c) 8.66N (d) ON

Baa @ A4 fred Ty I &R TR [AgE QUi $ew 8 49 fites weiegdi@m 5 km/hr @9z 12 km/hr
ZET A TS JA? [JU’19-20]
(2) 60 km/hr (b) 7 km/hr (c) 17 km/hr (d) 13 km/hr

saryi: (d); V52 + 122 = 13 ;T3 8 ¢ +frda 1Sl @ 90°

5 r ; ";.i-.‘,;,'-ﬁf;"‘-ﬂ .
-'!I"-'{"'.‘r,.i:"- .:f i
e b R Y




[JU’18-19]

(a) 8 (b) 11 (c) 13 (d) 18
S (©); VO + 16 + 144 = V169 = 13

04, F=1+2)+K @b =30 +] + 4k 7S coBa A A, |23 - b| = F9?
() V12 (b) V13 (c) V14 (d) V15

. N e . 2 2
AE: (c);3 =1+2]+k; b =31+]+4k .'.[23—h|=J(—1) +32+(-2) =14

[JU’14-15]

Question Type-03: =ifh fefcar @it
G (T I@GTAT ST <l ZH:

(i) ST 97 (i) st 3@ (i) AR @ (iv) TATLT 3@ (v) IS 74|
Case—01 | farg sjres o7 fiae @ ool @i e i fRTap IR AT OIReE T8t B LI A1

R o) @ ns:P—Q+R=
= >
Case—02 | SIMIeRRs T TR =i e srage o fRde o wic-
(i) G 95 (o798 AT S AT (i) {6 (SFIR @ |

P R4

["Case—03 | o9 i Tt I R = /P2 + Q% + 2PQcosa
it coe Tt F9re <o R = /P2 + Q% — 2PQeosa. [@f6 AT STeifEFs @ @9 T “ineTl T 1]

Case-04

tanB = Qsina [B'tﬁf" (SIET A wiad e | Wﬁ’@’lﬁf"ﬁ o34 1]

P+Qcosa

widite, g6 (oBee MyRe T Sitre w32 WoR T4 Sitne ores A |

Rsin R sin oL

/N
Case-05 o R
o o
2 >

eI ST RS o5, .




01.

02.

03.

04.

05.

o37A,BSCOaTTRIET 12,58 13 GRA+B = C |
T T
OF (b) - © (d)= [DU’17-18)

A Fra 1-“-.-._:.!_ ..Tl-_....ul-':- 2 N - ] 5 -
L e N & TSR
SN Sy t Alegrmatp el
. = % 'l_|_ |T' i I'. R, e S '|'“'
(et T B » SRR S
- L) 1 v -,..- i . P ek ;--“4' ".;:t ot
¥ L B i SRy i e L N r
'11.- iy - v & L3 i -'ru: TR b
= it L L. e e fu J':

Case—06 |R = /PZ + QZ + 2PQ cosa
(Do =0, Rpaxy =P+Q (> +-) =
(ii) o = 180°, Ry, = P~Q(= +)=«[P< Q]
(iii) @ =90°, R, = /P2 + Q% (= + T)=2
(iv) ZRgerpendi:uIar = R%ax + R'l.anin
(V) Rmin <R < Rppgy

Case-07 |47 =1 (JB (S8ta7 02! FINGieT AF i e, § = 90° a3 [P > Q]

o = cos™1 (—%) = cos™1 (—%— ; IRl = /P2 — Q2

Related Questions:
716 307 =i T 40N, 39 57 Teer (=i 3efoq T 30 N @R «ff wif e =7 <=ias o 9| 9w

07 I F©7? . [CU’15-16,Agri. Guecho’20-21]
(a) 40N (b) 45N (c) 50 N (d) 60 N
Sen P
Y (c): WR Q? = P2+ R? =302+ 402 . Q = V302 + 402 = 50N
Q
p "
I AT (o796 e fFmriien) avim #fem ¥ @ QW 9 cotas e 1 (55 e
TLIIO! (& F©7? [DU’18-19,Agri. Guecho’20-21]
() 120° (b) 180° (c) 90° (d) 0°

AAYA: (a); P? = P? 4+ P2 + 2P2%cosa = cosa = —% ~o=120°
431> 3¥TF 50N o7 @t “if%w s w3 20N 3 et Ta fiess Bt 2o | =1f <o Wi 57 29 [JU’18-19]

(a) 53.85N (b) 63.85N (c) 43.85N (d) 50.85N

TAME: (a); F = V502 + 202 = 53.85 N

3fir [A+B| = [A - B| = ow A ok B 97 T4RST @ 23- [CU’18-19]
(a) 0 ) () - @

—y — 2 —+ —_— 2 2 2
i (d); [A + B| = |[A—B|” = A + B2 + 2ABcos(A*B) = A? + B2 — 2ABcos(AB)

= 4cos(A”B) = 0= AB =§

-—

A @ B (ST TRS! (10T Wi 02

< B5

HAYI: (ﬂ); A4 0 0

>

AT2
132 =52 4+ 122: 9 = 90° 1 ©1%, A ¢ B «7 7qsef @it o = ggnmmim.;i




06.

07.

08.

w30 I, T 9Io loNﬁF-‘i? qJR Jeeq 120° mﬁquﬁﬁ:m@mﬁwaﬁﬁaww G{‘Pﬁ'ﬁ?ﬁﬁ
[RU’17-18]

T 397 _
(a) 20 fE5R (b) 0 =ar 10 A6 (c) 15 &6 (d) 5 fEsa

syE: (b); R?2 = P2 + Q2 + 2PQcosa

= P2 = P2 4 10% 4+ 2P.10.c0s120° =2 Q(Q—10) =0 .~ Q=0,10N

AT F ST 30km /hr @Ot AR5 Fred St 45° (it v A 3802 1 et @0 KT SART

TS km/hr ? [KU’17-18]
(a) 10.25 (b) 17.35 (c) 21.21 (d) 25.32
N
FA: (¢) W E
30
kmh—l

S
. ST @0 *FT Soireeeta I = 30 cos(180° + 45°) = [—21.21kmh™?| = 21.21 kmh™
(ST P 8 Q A7 &% T (98T oF CHed Aoy - [JU°15-16]
@F=0Q ®[F+Q =F-Q ©[F=1-Q (d) IR T
FAYI: (b); P @32 Q A9 919 I SOitid SRS (3 90° |
~ [P+ Q| = /P2 + Q2 + 2PQcos 90° = /P2 + Q?
« |P — Q| = /P2 + Q% — 2PQcos 90° = /P2 + Q2

| Case—01 | O @9 = (FI9 @9 | GTO product CFIE 2 |
A.B = ABcosb
i i.j=7.1 o R & G s

a—
Il
Il

A 99 G9q B Q7 &5 SfST% = Bcosd = | f;hl
B @A TT A T 7% SfSTF2 = Acosd =

IHI

AWB I ol = 3. Bcosh = [ﬂ_ﬂlﬂ—"A la = i_]

| BRI A @ B = 6. Acosd = [IEI2 [B_Ihl]

A.B=ABcos6
= 0 = cos™? AB = cos~1 —2xBxtAyBy +4A,B, AN e a3 o5 wat @ W

|A]|B] JA§+A§,+A§JB§+E§+H§ W FH m A Q4 FAET a
Mtea aFe (o9 srear I




x'f:f( 1xi=&ix'f
e 2 T .2 2
jxi=—k i %) = —(jxi)

Tx k=1 [, aft R e s

Example: A.C=0, A.B=0 So, Ax (E“E) =
STAM: B||C (P71 ALC,ALB .. Ax(BxC) = AxA = 0 or, Ax(BxC) = Axfi|B||C|sin =0

Case03 |(i))AS B~ a¥ T A.B=0
(i) A8 BRI AxB=0 7, X=X =2
b y z
Example: A = 2xi + 6] + 12k, B = 8k + 12xj + 81, ALB -FAx =7
TR A.B=0 . 16x+72x+72=0 . x=—— ==
Example: A = pi + 8] + gk, B = 2i + 16 + 3k A||B == p,q =7
.E._.E._E. t. —
WNH.E—i == ; p—l. q=15
d —
Example: — (__) S (—)_IHE;(E) U
Related Questions:
01. aQANAFOITA = 2i+ ZT—Etﬂ?‘Iﬂﬁ = al + | (O3 AT 7 (I? [JU’20-21,DU’20-21]
(a) 0 (b) (c) -1 (d) 2 [JnU’17-18]

TG (c); (ST T LA OMA ©B @l 01 AB=0=>2a+2+0=0=>a=-1
02. Tfir 21 + 3] + k'@ —41 — 6] — Ak 96 (SFF AT IR ZF, ©IA A-aF i F© LJ?[JU16-17,RU20-2
(2) 2 (b) —2 (c) 0.5 (d) —0.5

W:(a);_i4=:%=-_1—l=b —-;—=—%-'-?L= 2
03. AQRB (S3T FITA.B = —AB I? [CU20-21]
(a) CSFTR AABAET GR U3 T (b) CSTTET TR g R
(c) (SR AT 17 (d) @GR T
FAAYI: (b); A.B = —AB = ABcos® = —AB = cos@ = —1 .~ 6 = 180°
04. TIMP =2i+]—-3k9eRqQ = 4] — k =, O ©IAF (F=117 9 F =772 [JU18-19,CU’20-21]
(a) 7 (b) 3 (c) 9 (d) 11
IY: (a); P.Q = (20+7-3k).(4j-K)=4+3=7
05. w3 o739 A = 31 — 3] ¥R B = 51 + 5k 97 749! @ Fe? [JU’16-17,DU*19-20]
(a) 60° (b) 30° (c) 45° (d) 90°

e B _ (31-3]).(si45k) 15 1 .9= -1 (1\ _ £no
TI4E: (a); cosO = A|[B]  Vaz+a? ‘;52_,_52 ~ 3vasvz 2 0 = cos (_) = 60

'-!-f'r-h‘r-i-lv {' T b
-|§ﬂ‘!!\ 'i.?a!..n 32 ) o el
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06. A @ B (SIqu *TIq &% 20 fN0sa G o7 TR? [RU’19-20]
(a) |A+B| > |A - B] (b) |A +B| < |A -]
) |A+B| = |A-B| (d) Titz v IS 7re “it

s (©) |A + 5| = J[&" + [B[* + 2/A|[B] cos 90° = J[&" + [8[

5] = A" + [B]" - 2A|[B] cos 90° = |3+ 8" =[5+ B] = K-}

07. 7' e =39 A = 31 — 2] + 4k o B = 121 + mj + 16k ==t m =? [RU’19-20]
(a) 4 (b) —4 (c)8 (d) —8
FAHI: (d);%=_;2=1—2 ~3m=-24 ~m=—8

08. fouf co89 3, b '@ &, Tiwm 7 T 4, 3 @R 5, CAY e Gy W AR E + b + € = 0 1 SR [¢ X
(3 x b)| @5 1 z=1- . [DU’18-19]
(a) 12 (b) 60 (c) 25 (d) 15
FtgE: (b); [¢ % (3 x E)‘ = |¢ X (absin90°fj)| = |abc sin90°fj] = abc =3 x4 X5 = 60
TwEar 3, 4, 5 P @@t

09. o e ofSfaraa TYEt @I T Fo7 [Ans: d][JU’18-19]
(a) 0° (b) 60° (c) 90° (d) 180°

10. @ 7@ E@F = (101 + 10] + 10k)N 3o ezt e wifba vt =0 ¥ = (21 + 2] — 2k)m 1 w1
TRifre SIe $° X? [DU*17-18]
(a)201] (b) 30J (c) 107] (d)40]
s (a); W = E.£ = (101 + 10 + 10k)(21 + 2j — 2k) = 20 + 20 — 20 = 20]

11. ¥ F = 8i + 2] «xe? = 61 + 8k =0, o .7 3o T@? [RU’17-18]
(a) 48 (b) 16 (c) 32 (d) 64
Farg: (a); BT =8X6+2X0+0x8=48

12. @ 346 A= 41 + 3] 9 Tog 1w [Ans: ¢] [CU’17-18)
(a) 31 + 4j (b) 61 (c) 7k (d) 41 — 3

13. |A.B| = |& xB| T A ¢ B 4 TR (19 792 [CU’14-15,JnU"16-17)
(a)m (b) 5 ©% (d) 27
HAYIF: (b); ABcos® = ABsinb6 = tan0=1= 0 = -E-

14. A-B = 0% @0 AF? [Ans: a][KU'16-17}
(@) A @ B *Fma o (b)A =0 ©)A S E A wmieam  (d)E=0

15. %A= —B¥, O@ A X B 93 I F©? [DU’04-05,RU13-14]
(a) A% (b) 1 (c) 0 (d) —AZ

TN (0); A = ~B 1 A @ B qq WS (@1t = 180° - & x B = [&|[B| sin180° = 0

- R,
e L Y 11 g . g
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16, @ﬁcﬂaﬁ = 3.0i — 3. 0j 9. B = 5.01 + 5.0k lﬂa‘wa@r (.zﬁcf'q;—'? R [DU’14-15)
(®) 60° (b) 30° ()25° () 90°
AAY: (a); A.B = 15;A = 3v2,B = 57 .. msg_“ 3\{3;_ 1__ c0s60° & B = 60°
17. 3 A, B, 8 C oS =83 A1 (Vector quantity) 9 € = & x B =5 oz € «g fores 204-
(@) ATARE | (b) B 2147 [Ans: ¢] [JnU12-13,14-15]
(c) A8 B SSTH 1% (perpendicular) 9ai9d (d) A @ B S A< (parallel) IR
18. «¥% (589 (Unit vector) &7 CF0q (1 TG A2 [Ans: ¢][JnU’13-14]
(a) 1xj=1 ) ixj=0 © ixj=k (d) ixj=—1
19. J.(2i-3j+k) aqTmwes [CU’13-14]
(a) 2 (b) -3 (€)1 (d) -2
ST (b); J.(21-3j+K) = (2j.-3].j+].k)=-
Written
01. A = 2i+ 3] — 5k a2 B = mi + 2] + 10k | m a9 5 % =1 (s35=y (vectors) ATIas ©o4F &W
(perpendicular) z@? [JnU’18-19]
FAY: 1 $70e, A.B =0 = (21 + 3] — 5k).(mi+2j+10k) =0 =2 2m+6—-50=0 ~m = 22
Question Type-05:
(i) A B gt RS qig 2 Aeiiead cvaee = |AxB]
(ii) d; , d et i T 20T v = - [d; xdy|
(iii) A '@ B fargtem uf® wfAfe g 71 crawat = - |[AxB|
(iv) A,B,C (@7 97484 fonfs €9 & wiwed = A. (BxC) = B. (AxC) = C. (Ex'ﬁ)
= qWa e ofFe R
Ay Ay, A,
(v) A, B,C fofd cota ot &3 =1¥, e = 0 2ed, TR A. (B x C) = 0 = Ex E,, Ez =0
x G G
Related Questions:
01. s gt JHRe IR P = 4i — 4j + k R Q = 2i — 2j — kK I 97T CFawe 97 [JU’19-20]
(a) 6.5 9T (b) 7.5 9FF (c) 8.5 =5 (d) 9.5 3=
SR: (¢); B X Q = +61 + 6] - cFawa= V62 + 62 = 8.485 ~ 8.5
02. I STATS! A Frey LA TN T I A fewar k- [Ans: d][JU’18-19]

L

(a) 45° T (b) 30° 1T (O EEEEISE]




03.

04.

01.

aﬁﬁ‘rﬂr@ﬁmﬁﬁﬁ?WA 31—]+2E~EB—1—21

(a) 5.59 (b) 6.87 (c) 7.83 (d) 8.79 [KU’18-19]
IR | S S L .
TR (a); AXB=(3 _1 2|=-10j—5k; Area = |A x B| = 2V107 + 5% = 5.59
1 -2 4

I P=i-j+k @R Q=1+ -k 93 “INehes 13 AHke g Aot 3@, O=FE RE T

AR Crawe a9 [DU’15-16]
(a) 2V2 (b) 2 (€)1 (d) V2
IO T S i
Y (2); PXQ=|1 —1 1|=11-1)-j(-1-1)+k(1+1)=2j+2k
1 1 -1
~ AT cvageet = [P x | = V22 + 22 = 22

A =a,i+ayj+a,k
XIUFIANY A QI @ oo = cos™ 1=

|A]
y ST ALY = cns_l% a > -
) 4 |/+
ZOCFI ALy = ms‘ll—f[-
* cos?a+ cos?fB +cos?y=1
r.51e
F
2 5 >Fcos
mg mg+ Fsm B
e @6, W = mg — Fsinf W = mg + Fsin®
- TR 1T (5T It RS |

f*g, ferted P15 AW Fare @ 971 2tHiem ©iz 5 TwiW F9re @ @ S|

61

Related Questions:

GG PIDT VAT LT AT 60° et 200N 7 & B+t 2052 | A Toi Wi e T 70 9o?
- (d) Zero

(a) 200N (b) 100N (c) 174N
THEE: (b); F=F'cos60° =200x cos60° =100N

g O B o S

[DU13-14]
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O1.

0l.
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1G] el o Mo Jo
S £ CeiEas

(1) QITH 2 4909 TSI @ AT

(2) AT (AT IR (b) TSR (<11 oo T @z Rodon)
(ii) 3@ always T 2ot “fwrs 5y
(iil) RIS 4919 i Swrgd A

RS s {su
Pa Zre tand = ==

CCET 9
EIHSHI
cosB = M
SR

[0 STFF AL 1]

sinb =

I IS AR > (ST e *18: Ao (1E5<) T @i Quelw s -
(D) Varer > Ve — CTRAE 16 o8

(ii) Varom < Ve = ATNCE D16 o811

(iii) Varepr = Ve — A2 [OGTR

JIfETF IrerT [odeordl =05 o cFras s 05 fowE |

Related Questions:
38 TR GFEH @ 10ms ! @T 5eeE | I 3B 10ms ™ @t Jet s fee Ate o @ @Rfite @
At =St 43T T? [KU*19-20]
(a) SEfRTER AT 40° e (b) =te= =Y 145° It
(c) ST A 45° et (d) SRR R 30° o

10sin90°

AYH: (¢); tanb = FeTT T 1 ~0=45°

Written

% e BT TR dm/s @ GO | A @ 6mys, THOIE | QOE (RN TIFH F© e v 38 QAT
e = T ANE? [KU’15-16]

A!( O 4]]15-1

A

0 6ms-!
ECIRIGE
B

4R, 3 (U <T5T® AT BATER N © (FiTel B! 4700 T | OIFA, tand == .. 6 = 33.69°
-, 38 (AT Feres 5 TS A TF0He A 33.69° (L RIST 470 A | (Ans. )




Question Type=09: +

(1) TWa = 0 WO s = vt A
(i) WM a # 0 WS s = ut + 3 at? AT — - v cos 0.
v= G @A
Tl I TS CITA (IO IR Qe RETRR TeE
- a4 d
() q.Ei:]‘’;’m"r'{an:'q-J:r:ﬂ-ﬂ"t—t:1'=1'~=r|"ﬁi!l*'.1''_"..rslr'u.n:
(1) tmin Whensina =1, a =90°% tnyin =.E.
{i1) Smin T 91 T | O T A 9199 (T5-
(iif) CISIFIfS #ifq =1 92 v —
u+vcosa=0; a =cos™? (_T) S Smin =d
u

d d d

iv) For S, t = =
C ) min vsin(cns'l(—:';)) viie (sin‘ .,,f‘,.zv_uz) JvZ=y2

Related Questions:
01. w&at it cices @ 3kmh~! | 9o & 5 kmh™! @@t G191 SIS 756w | A9 &F 0.5km | GitST 5T

o ST @I (IS BT (7 12min @ TR S#R9Te i [ 9ie ¢hires Ama? [SUST?19-20]
(a) 50 (b) 59 (c) 45 (d) 30 (e) 35
e (d); t = —— [u = G 1]

i d 05 1
ssina===—F =2 s~ o= 30°

ut SHE
02. «=fo <TETST Tl FICEE I AN A S G PR @I e Tear Tpe? [JU*12-13]
(a) Opposite shore (b) somewhat upstream (c) somewhat downstream (d) none
d

AATHI: (a); vsinQl| ¢

.

o
u

Here, to cross the river the component vsina is necessary.

: . d
t = time to cross river . t = —
vsina
d : , 5
“ tmin = = wheresina=1 o =90

» For minimum time, one has to start for opposite shore.




